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Model with blocks or number lines. State the answer
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Multiplying Fractions - using modeling

We have multiplied a fraction by a whole number, and a
whole number by a fraction. 6 x2 and 2 x6

3 3
Now we are going to multiply a fraction by a fraction, using
modeling.

You have to look for a pattern that exists in each of these

methods to determine how to multiply fractions without
modeling.
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where the colors overlap is the answer to multiplication

—I— » ) o AY _3 J—
ZE 130t *3 3/5 of 1/3
Step 1) Drirectangle that is divided into ______ vertically (Denomator of first fraction). 5 m&M
Step 2) Shade in (numerator) of first fraction. 3
Step 3) Divide Same Rectangle HORZONTALLY by ___( Denominator of second fraction) j
Step 4) Shade in ?‘(n;m;ra&)'ofsecondfraction. C— / / /) ls
Answer is the OVERLAP
' Ance
W‘%E/‘ L Red
o 5
2 4 2/3 of 1/4 Ly 1/2 of 1/5
Y x 27 5 ¢—cut
Z _
] 12 " 4
(®
3 u 3/4 of 4/7
T * =
| €~ 4
‘—5 ﬁ
2 2
2g 1
1/3 of 5/8
2/5 of 5/6
3/10 of 5/6
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page 113 #5(do it all together), 6, 7d, 8(a,c,e)
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